Aat  lim T (x+a0b) — Tex) . p7(x; f)
= - 7/
A= D o |

e ST (x;h) = DT(x;4) Z

%éoy%&nj/( lonFinaidy 79-rm_ %ﬁf&k?‘fﬂé:”ﬁ)
Tf TIU EX —>Y 5 Frebhet dffevtoticbl of x

hee T 5 m—ﬁ«lwm =7 x (#w: xe W) -

P Guren €30  phere b o« ball  conhred at x
/ ?

o oadivn £ B (x) = {xea s MEexd< sj'f c v
?WM E ¢ /gg_.#a,&a—'f’7 fhu./(@ N ( _)5@;@ <J 4 s ﬁ»«)
For xth € 23(;5) ) |

b T (ath)—Tex) —~DT ;R0 < & V5N

Te AT(xth)— Tl s g Jhl + 12T(x5R24
s sl wDTEd gpy

s (e: + WDT(x;.0) ) JAS

= Mkl
So pick Sz € o gt ,cvwh;&m‘ﬁ %.7

cxample Lot FiRR  fowe ot frost pertal

aéwim-/l'f@/ﬁ at x' ¢ R ” Thew e | a&,/faa‘.%’a./
S5 = ( b B Ae pelhs
o “ /x=.ﬂ'° o . :

L ferential -

e B =




